CIELABU2 standard lightness I*
I* Ync YW nc— =100,

I CiELABU2 B (Y/Y) 259 (¥,=18, Y, /100<Y<=Y, )
I*\(3,6)=22,* ,(18)=50,I*,,(90)=103

log[I*/I* J=0, m,=0,46
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tristimulus value difference
Yoc=Yw - nc=100,

I CiELABU2 B (YY) 259 (¥,=18, Y, /100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢/58)] + [1-(1/2,5)] logY)

1 Yw=90

log (AY/Y) CIELABU2
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
I CiELABU2 B (YY) 259 (¥,=18, Y, /100<Y<=Y, )
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,)
= (1/2,5) log[2,5¢,,/58)] - (1/2,5) logy)

log(dY/Y)=-0,62 m,=-0,39 < = .
* =50, dY,=4,27, dY,/Y,=0,2377

log (Y/AY)
C,=(Y/AY)

CIELABuU2

tristimulus value contrast
Yac=Yw - nc=100,

I CiELABU2 B (YY) 259 (¥,=18, ¥, /100<Y<=Y, )
log(Y/dY)= - log[2,5/,,/58)] + (1/2,5) log{/Y,)

= - (1/2,5) log[2,5(,/58)] + (1/2,5) logy)

log(Y/dY)=0,
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i/l CIELABU2 relative standard lightness I*/I* ,

I Yoc=Yw =100,

I CiELABU2 B YIY) 259 (¥,=18, ¥,/100<Y<=Y,)
I*\(3,6)=22,1* ,(18)=50,I* ,(90)=103

CIELABuUZ relative

tristimulus value difference
Yoc=Yw - nc=100,

I CiELABU2 B Y/Y) 259 (¥,=18, Y,/ 100Y<=Y,)
log(dY/dY,) = [1-(1/2,5)] loglf/Y,)

log (A YIAY,)
AYIAY,

< =50, dY,=4,27, dY,/Y,=0,2377
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log[(dY)(dY),]=0, m=0,60 .~

log [(AY/Y) I (AYIY)] CIELABuU2 relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

I CiELABU2 B YY) 259 (=18, ¥,/ 100Y<=Y, )
logl(dY)/(AYY),] = - (1/2,5) loglIY,)

log[(dY/Y)(dY/Y),]=0, m,=-0,39
I* =50, dY,=4,27, dY,/Y,=0,2377

YN=3.6 | Yw=90

log [(Y/AY) I (YIAY),] CIELABU2 relative
tistimulus value contrast
CrlCry=(YIAVI(YIAY)y v 2y 2100

nc_l '
I CiELABU2 B YY) 259 (=18, ¥,/ 100Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,5) loglY/Y,)

YN=3.6  Yw=90




